<oy > (um) for PV

Ratio

<9z > (um) for PV

200,
LT I SR SO

00f+++5--cesbef [l

bl L L

=] S R s 1 A H-
OF +[: 8
E HE B
C ¥F .
L] +4 k-
E +
"4
I
H

Vertex z (cm)

20 0 20 40 60

o

<ox> (um)

|
a
o

-100|

-150]

=

50 5 10 15 20
Vertex z (cm)

0
SFSSCHNE W W S S S
100f
150

S SO TN POV TV T T LT T
| BRI
ok S
=20 -15 -10 -5 O 5 10 15 20

Vertex z (cm)

M_pixelCPETemplate_step2 ttbar-phasel-newgeom

] B V_originat_stepZ2_tbar-phase1l-Newgeom
— DéM:plerCPETemplateCut hiSquareNew5_stepZ_ttbar-phasel-newgeom

T TT
T

el
05—----- _________ 1 n:,++%:*++“..._ ..... F—.

10 15 20

Do =15 =10 5 0
Vertex z (cm)

Vertex z (cm)

é';t.“.- ..... I

¥

1A T
D6=i5=10 5 0 5 10 15 20

[~

—~ o]

<oy>(Um
N
SN S S S

Ratio

s
T

el il el A o i ol i i

10 15 20

Vertex z (cm)

=
o
o
o

LI B B B B B

B

5 10 15 20
Vertex z (cm)

Ratio < dy > for merged vertices (um)

< d z > tor merged vertices (um)

|
al
o

Ratig

0.95!

200
1504 b ]

100

ul
o

[y
o
(=)

[$)]

0_|'|'|'|'r|"|'|'|'|'|'i'|'|'|'|'i'|'|'|'|'|"|'|'|'|'|'F'|1'|'|'|'i1'|'|'|'i

50 5 10 15 20
Vertex z (cm)

o

o

N

10 15 20
Vertex z (cm)



	Contents
	Page 1


